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R, 15 5H [B:] 7H 8H ER:| 105 11 21 TH 21 R o T 5]
M H(EE R oF = 6,293 6,315 5,614 5,644 5,092 5,853 5,205 6,316 7,233 5,270 2,835 71,896 5,001
a PN kg 4,922,990 5,203,290 4,947,760 5,336,470 5,659,830 5,052,020 4,779,010 5,212,660 5,127,040 4,618,780 3,891,640 59,496,450 4,958,038
AT s (FER) BAEK = 3,342 3,211 3,408 3,376 3,355 3,303 3,415 3,336 3,713 2,975 2,800 39,623 3,302
- PN kg 2,516,030 2,496,050 2,511,710 2,704,360 2,584,240 2,535,310 2,555,030 2,659,070 2,827,370 2,314,650 2,085,760 30,291,190 2,524,266
x5 — TAEHR = 20 0 2 0 0 0 0 0 0 0 0 32 3
FIRTH(—BER) PN kg 9,420 0 180 0 0 0 0 0 0 0 0 24,860 2,072
AT H (DR WAEK 5 34 35 35 38 83 S 36 62 71 21 38 63/ 53
ik PN kg 18,090 10,590 14,420 19,460 36,100 18,220 13,540 29,950 20,220 8,190 19,340 251,880 20,990
M (W — ) BAEK = 57 128 201 187 200 191 247 224 146 107 110 1,932 161
" PN kg 21,710 28,700 52,150 52,700 44,260 42,290 44,710 46,010 26,990 27,940 47,930 463,300 38,608
= ® 5 - % WAEK 5 35 62 69 74 99 78 30 24 29 25 29 586 79
o PN kg 119,620 131,500 129,570 137,510 153,440 135,620 91,300 86,440 102,780 82,870 93,760 1,380,490 115,041
e BAEK (= 55 54 48 45 47 46 36 52 52 36 84 614 o1
PN kg 36,360 42,100 41,100 33,690 34,810 32,630 36,540 38,820 31,490 25,650 68,900 456,260 38,022
T MmEE A BAEK (= 123 114 113 58 102 101 108 115 113 o1 27 1,240 103
PN kg 98,800 96,520 93,310 76,740 85,960 88,530 91,920 99,460 98,630 67,940 21,090 1,035,960 86,330
5 o * BAEK = ) 15 12 16 12 7 50 8
WA S k. 2,820 4810 3130 5,400 3.180 23330 11,630 15,050 12,240 4,370 7,340 99,480 8290
N 5t TR 2X = 10,002 T,923 T,293 9,267 TJ,881 ~ 9,641 10,099 10,145 TT,369 8,529 939 1UT%| T16,650 9,721}
= ® PN kg 7,745,840 8,013,560 7,793,330 8,366,330 8,601,820 7,927,950 7,623,680 8,187,460 8,246,760 7,150,390 6,235,760 7,606,99 93,499,870 7,791,656
57 59 71 86 75 50 88 78 56 57 50 52" 50 70
S V-1 N ¥ - - — 7| | | Y — 7 5 | — || " ¥ |- R |\ R ] 14 12/
— 26 244 311 32 28 20 303 274 2% 777 77T 229 3110
75 5H [ 7H 81 oH 10 5 11 21 TH 25 3H R o T 5]
TH &D) 2,000.17 2,010.62 3,471.61 3,573.01 3,530.74 3,075.25 1,518.13 3,373.81 3,523.51 3,504.29 3,096.87 1,263.36" 33,941.37 2,828.45
- /A 3,239.10 2,205.35 3,337.23 3,631.41 3,602.89 1,854.63 3,346.80 725.56 2,881.13 3,513.72 3,143.87 3,390.72" 34,872.46 2,906.04
30780 87614 343172 342356 338204 353351 1,03877 _ __ 1,073.20 L 2,488.34]
3 1R pi=] b =]
i 7H 8H ER;| 10 5 11 21 TH 21 3H 5]
EESIZSEE T 1,274 1,275 1,279 1,285 1,287 1,285 1,274 1,296 1,279 1,292 1,309 1,29 1,286
15% ECABAONREE c 190 187 189 187 188 188 189 189 189 189 188 18 188
HEAZRROCORE ppm 13 13 16 14 9 16 9 10 8 9 12 11] 12
LSESIESE T 1,286 1,280 1,280 1,277 1,276 1,272 1,276 1,277 1,281 1,293 1,283 1,32 1,283
28R ECABAONRIRE C 186 186 188 188 189 187 187 187 179 183 185 18 186
BEAZRROCORE ppm 12 14 13 12 11 12 18 11 12 9 9 11] 12
T 1,292 1,277 1,275 1,279 1,280 1,285 1,286 1,273 1,284 1,283 1,320 1,315 1,287
187 188 189 188 188 189 188 188 189 189 184 18 188
i3 16 17 14 10 12 i3 i3 9 10 9 11 12
(BSIF £F10E)
BRULBWC O Eaoem ]
155% 25 % 355k
[Pa——- e SHI0H~22H TIH12H~190 TH248~2H4H
AT T3J3AY SH128~20H 118158~20H 18248~282H
[r—— T~ SH1/H~18H T1H240~26H 2AsE~100 |
ARSI SH17E~18H 12A18~28 2H9H~10H
5 3 A Bl (£E4[8])
T 15 5H [3:) 7H 81 o8 101 1H i) TH 25 31 5]
TR — — — H — — H — — 0 = = TH =
15% AERRE — — — 230 — — 10918 — = 1855 = = 3A28H =
FAATS ABRE ng-TEQ/miN — — 0.00340 — — 0.00035 — = 0.00037 = = 0.00043 0.00114
WRE = = = 20 = = 2H = = = 3=] = 2H =
28R AERRE — — — 236 — — 10A1H — — — 2A1H — 3H28H —
FAAES AR ng-TEQ/niN — — 0.00240 — — 0.00042 — — — 0.00170 — 0.00055 0.00127
3= — — — 3H — — 3H — = 20 = = 30 =
35% AERRE — — — 230 — — 10918 — = 1855 = = 3A28H =
FAAES ABRE ng-TEQ/miN — — 0.00200 — — 0.00160 — = 0.00047 = = 0.00096 0.00126
6
5H [3:) 7H 81 o8 101 1H i) TH 25 3H T 5]
TR = 7H fi=] 2H 3H fi=] = fi=] H SH H H —
AERRE — - 28H 248 305 248 28H - 250 236 276 26H 306 =
125 FUCAEE g/miN - 0.001 0.001 0.001 0.001 0.001 % - 0.001 0.001 0.001 0.001 % 0.001 xg 0.001 7|
w ppm - 1.0 & 1.0 % 1.0 * 1.0 % 2.0 - 1.0 & 1.0 *% 1.0 * 1.0 * 1.0 %y 11 5
ppm - 20.0 21.0 20.0 21.0 13.0 - 13.0 15.0 22.0 24.0 15.0 18.4
ppm - 5.0 11.0 5.0 6.0 7.0 - 6.0 9.0 4.0 4.0 10.0 6.7
— 0 80 20 30 1] 20 20 = = &H 20 2H =
= 26H 28H 248 306 248 28H 250 - - 276 26H 306 =
22% g/mN 0.001 % 0.001 % 0.001 % 0.001 % 0.001 % 0.001 % 0.001 *# - - 0.001 * 0.001 % 0.001 0.001 7|
= ppm 1.0 % 1.0 *% 1.0 * 1.0 * 1.0 1.0 1.0 % - - 1.0 * 1.0 % 1.0 %4 1.0
ppm 22.0 26.0 23.0 20.0 20.0 20.0 17.0 - - 22.0 22.0 16.0 20.8
ELKRRE ppm 6.0 5.0 7.0 5.0 11.0 9.0 4.0 - - 5.0 9.0 5.0 6.6
TRRE — 2H 3=] 3H H = 30 0 20 2H 78 = 30 =
AERRE — 260 28H 248 305 - 28H 250 250 236 276 - 306 =
2% FVCATEE g/mN 0.001 % 0.001 % 0.001 % 0.001 % - 0.001 * 0.001 % 0.001 % 0.001 % 0.001 % - 0.001 i 0.001 |
= REEEY ppm 1.0 % 1.0 % 1.0 * 1.0 *% - 1.0 1.0 % 1.0 * 1.0 *% 1.0 *% - 1.0 %y 1.0
ERECTRE ppm 23.0 19.0 22.0 18.0 - 21.0 14.0 21.0 16.0 17.0 - 20 || 18.3
ELKRRE ppm 7.0 6.0 8.0 3.0 - 9.0 4.0 7.0 7.0 10.0 - 80 |l 6.9
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